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Equazioni differenziali.

Esercizio 1
Risolvere le seguenti equazioni differenziali.

(a)

{
ẏ(t) = t2

y(1) = 0
(b)

{
ẏ(t) = cos(t)
y(2π) = 1

2

(c)


ÿ(t) = cos(t)
y(0) = 1
ẏ(2π) = 1

(d)


ÿ(t) = e−2t

y(0) = 1
ẏ(1

2
) = 1

2

Esercizio 2
Risolvere le seguenti equazioni differenziali.

(a)

{
ẏ(t) = y(t)
y(0) = 1

(b)

{
ẏ(t) = 4y(t)
y(1) = 2e2

(c)

{
ẏ(t) = −2y(t)
y(0) = 3

(d)

{
ẏ(t) = −y(t)
y(−1) = −1

Esercizio 3
Risolvere le seguenti equazioni differenziali.

(a)

{
ẏ(t) = 2y(t) + 3
y(0) = 0

(b)

{
ẏ(t) = −y(t)− 1
y(0) = −1

(c)

{
ẏ(t) = −3y(t) + 3
y(−1) = 1

(d)

{
ẏ(t) = k · y(t) + k
y(0) = 0

Esercizio 4
Risolvere le seguenti equazioni differenziali.

(a)

{
ẏ(t) = e−t (y(t))2

y(0) = 1
(b)

{
ẏ(t) = e−t

y(t)

y(0) = 1
(c)

{
ẏ(t) = t2 · e−y(t)

y(0) = 0

(d)

{
ẏ(t) = t

y(t)

y(1) = 2
(e)

{
ẏ(t) = t

y(t)

y(1) = −2
(f)

{
ẏ(t) = 1

y(t)

y(1) = 1

1



Esercizio 5
Risolvere le seguenti equazioni differenziali.

(a)


ÿ(t) = −9y(t)
y(0) = 0
ẏ(0) = 1

(b)


ÿ(t) = −4y(t)
y(0) = 1
y(3

4
π) = 2

(c)


ÿ(t) = −π2y(t)
y(0) = 0
y(1

2
) = 1

(d)


ÿ(t) = −16y(t)
y(0) = 2
ẏ(0) = 4

Esercizio 6
Risolvere le seguenti equazioni differenziali.

(a)


ÿ(t) = 4y(t)
y(0) = 1
ẏ(0) = 1

(b)


ÿ(t) = 9y(t)
y(0) = 1
y(1) = e−3

(c)


ÿ(t) = y(t)
y(0) = 0
y(log(2)) = 3

2

(d)


ÿ(t) = 4y(t)
y(0) = 3
ẏ(log(3)) = −2

3

SOLUZIONI
Esercizio 1 a) y(t) = t3−1

3
; b) y(t) = sin(t) + 1

2
; c) y(t) = t − cos(t) + 2;

d) y(t) = e−2t

4
+ 1+e−1

2
t+ 3

4
.

Esercizio 2 a) y(t) = et; b) y(t) = 2e2t; c) y(t) = 3e−2t; d) y(t) = −e−(t+1).

Esercizio 3 a) y(t) = 3
2
(e2t − 1); b) y(t) = −1; c) y(t) = 2+e−3(t+1)

3
; d)

y(t) = ekt − 1.

Esercizio 4 a) y(t) = et; b) y(t) =
√

3− 2e−t; c) y(t) = log( t
3

3
+ 1); d)

y(t) =
√
t2 + 3; e) y(t) = −

√
t2 + 3; f) y(t) =

√
2t− 1.

Esercizio 5 a) y(t) = sin(3t)
3

; b) y(t) = cos(2t)+2 sin(2t); c) y(t) = sin(πt);
d) y(t) = 2 cos(4t) + sin(4t).

Esercizio 6 a) y(t) = 3e2t+e−2t

4
; b) y(t) = e−3t; c) y(t) = et − e−t; d)

y(t) = 3e−2t.
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